Sharing experience on using the web-based simulation and
concept test in teaching concentration of solutions
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Limiting & Excess Reactants [R#|F58 885 ggm‘

Calculations based on equation EMEESEAGHFE
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There are 5 steps to deal with this type of questionse
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(11 Draw a flow chatte
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(21 Write the balanced equaticone
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(3 Calculate the number of mole of reactant respectivelys
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(4)Take 1 reactant as reference to check there 15 limiting reactant or
not, (Important! )
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(2 Calculate the answer which required by the questions
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Ifthe questions involve excess and limiting reactants, we have to determine which
one 15 the hmiting reactant first and the other one 1z excess reactant
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Please write down your answer +
1. +

2. +

3. +
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Step 4 FEEPU(take the bread as the reference LIEEHE fEZ:0E). «



Step 4 HEETU(take the bread as the reference DIEERIfEZ:HE. «

With 2 pieces of bread and 1 shices of chess form 1 sandwiches, there are & pieces
of breads, so it need slices cheeses to use 1t up, but now there are 1 slice of
cheese only +

FHF PR R I — IR AT R — 1 = e RAEE IR R P DU AR R R TR
P LR R R R B = aig (HR B R R R — IR L e

As aresult AL+
Bread iz EBRZ o
o

Cheese 15 =152 o

+

Important Skill:+

when the question involves excess and limiting reactant, «
¥ We should first find out which one 1s limiting reactant +
¥ and then using the limiting reactant to calculate the no. of mole
of product. «
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Sodium dissolved in water to form sodium hydroxide and hydrogen gas.
MEREARDP, EMER(CIAF IR,

2Na(s) + 2H:0(l) —— = 2NaOH(aq) + H:(g)

What mass of sodium hydroxide may be obtained by dissolving 11.5 g of sodium in water?
W iBHG 11.5 g ERTEKPE, SJMGRNEMNEEIE D ?
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© Make Water
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Choose Your Level

Level 1 Level 2 Level 3
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What of the following consists of greatest number of atoms?
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A 5 mole of magnesium nitide B. 6 mole of hydrogen peroxide
SHmmME {0 GERNEALE

C. 7 mola of sulphur dioxide D. 8mole of hydrogen chloride :
TRENH{E SEBMELE



I -3

F- BT
CTESRT:

> .
i

%P
[ e

e

oM
g 1

1999CEl #2

One mole of calcium bromide contains
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A 1 mole of molecules. B.
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C. 2 moles of catians. D.
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Correct: 29%
Total: 21/22
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Solute: [ B Drink mix

®soid 7 O Soluion 1

/ Concentration

0.670 mol/L
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Questions:

Which action(s) will change the number of moles of solute in
the container?
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- Evaporate water

Drain solution — .
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Add water
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(1) only e )

(3) only
(1) and (2)
(2) and (3)
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Which action(s) will change the number of moles of solute in
the container?

DR ES R S R C
1 Add water v 50% & 20/22

Evaporate water 10 9
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© Drain solution
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A. (1) only comr 1 ;
B. (3) only

C. (1) and(2)

D. (2) and (3)
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